buVaR formula

The inflator 1s then given by:
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where:
' : average of 5 most extreme (absolute) returns in all available history of

that asset, capped by a circuit-breaker 1f applicable.
Bnax  :largest absolute B, observed in all history of that asset
o - standard deviation of returns of the last 250 days
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m The form of the inflator ensures that buVaR is between VaR (lower limit) and
a reasonable upper limit @, and grows with the bubble.

P&L, y. can be sampled. The buVaR at confidence level g% 1s the expected shortfall of
the distribution y estimated over a 1-day horizon at (1-g) coverage:
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y < u) where Pr(y<u)=1-¢q 3)




